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1 EB1E PNITEATIRESY i pNIILS 4.00 5.30 |IBRARE 0.64 | BF5HET
2 BB TS ENIRILER 2.70 360 ®EF B ISHET
3 BE REFEIINE BEE R 5.90 230 ik B 5 HT
4 EBRELS NV EINNKILER 25.00 400 |fBRERE 0.76 | BFSHET
5 BE I RE3MNE AL 2.30 6.00 | ik B 5 HT
6 BE I RNE2UE M/RILF4E 2.10 700 | #E B 5 HT
7 BE i/ BiE 7o/ Bg 4.30 1110 ikt B 5 HT
8 EIE hAEEE24E i@ R 5.60 320 ®BF P ET
9 S R/ HE2HE R/ HR 2.40 450 | ik B ET
10 BE R/ HEBANSE R/ HEAR 2.80 340 ik B 5 HT
11 BE HL 645 HLERER 4.70 320 #F B ST
12 BE HLE1S4E HLERR 4.50 440 | itk B ET
13 EIE HL2EE LR 4.80 450 | BAF B I5HET
14 BB TINERE STINEE 5.40 350 | #F BT
15 | 3806 | ;E#E LIS ERAITE2 FEERER 5.10 6.20 | #F 0.28 =2
16 | 3805 | BB LIS ERAT4E1 L EREHR 5.10 920 | #F 0.33 =1
17 | 3804 | BB LAY R IME EEREER 5.80 620 #F 0.30 =1
18 BRELS BIIING IR ER 59.20 450 |ERERE 1.08 | ER5HT
19 BE EHRHISE HERHER 2.70 400 | ik IS ET
20 BB E2HaHE ZRETFTR 5.50 460 | ik B RGHT
21 BB thiE2E4E ravig 2.30 440 HiE s ET
22 BB EhE3EHE EOvig 2.30 520 | ik 1 L
23 BE EHAHISIE SR ER 4.60 540 | ik 1 L
24 BE +EEE EH+EEZRIER 3.80 550 | ik 1 L
25 | 4700 | EEBLIS EHIZE —EE 1935 24.00 5.70 |BRARE 1.14 =2
26 | 4400 | EBLIS HERE & BRBAR 6.20 740 | #F 0.33 2}
27 | 4401 | BHBLIS RIS & BRBAR 55.00 740 [ERaAKRE 2.04 2}
28 | 4403 | EBLIS R EXAE & BRBAR 4.90 740 | ik 0.28 2}
29 | 4338 | EIELLS Kitsg ABREHR 3.40 1140 it 0.29 =]
30 | 4337 | BELS AREE ABRIRER 6.10 850 | #&F 0.34 ]
31 | 4336 | EELS B LR FE ARBRIBHR 4.10 1030 | #F 0.32 =2
32 BB Bt 515 Eh B R 53.50 3.80 [BRABRE 1.08 | EF5HET
33 | 4302 | FEFBLIS FHBE TR AR AR 2.50 1000 | ik 0.24 =1
34 | 4303 | EELS B tets TrHt AR AR 10.50 440 | ®F 0.33 =2
35 | 4304 | EBIELS KEHE TTHEERER 2.80 400 ik 0.19 23
36 | 4306 | EIELLSL A TTHEERER 4.70 390 | #F 0.23 2}
37 | 4307 | BELS LRINAE TTHEERER 1250 420 [ #F 0.35 2}
38 | 3901 [ EFBLIS Ei52518 TTHEERER 2.50 440 ik 0.19 23
39 | 3902 | EFBLIS Ei5381E TTHEERER 3.00 440 ik 0.20 =1
40 | 3900 [ FEMBLLS Ei5151E MR AR 450 440 #BF 0.26 2}
41 | 3903 [ EELIS Ei5481 MR AR 5.50 350 | ik 0.22 =1
42 | 4339 | FBELIS yELB ARRIEHHR 7.60 8.80 [BERABRE 1.05 =
43 | 4330 [ EEBELS AERE A BRI 10.00 7.00 [ERAKRE 1.05 2}




